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QUESTION 1

Given the cashflows below, which of the following is correct? 

A. The project pays back in year 4 of the project. 

B. The project does not pay back within the four year period. 

C. The project pays back in year 2 of the project. 

D. The project pays back in year 3 of the project. 

Correct Answer: B 

 

QUESTION 2

Which of the following represents the total cash flows of an investment, over a period of time, adjusted to reflect the time
value of money? 

A. The Internal Rate of Return. 

B. The Time to Payback. 

C. The Net Present Value. 

D. The Return on Investment. 

Correct Answer: C 

 

QUESTION 3

What is the final stage of the waterfall systems devebpment lifecycle? 

A. User acceptance testing. 

B. Post-implementation review. 

C. Benefits realisation. 

D. Implementation. 
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Correct Answer: D 

 

QUESTION 4

Which of the following is likely to be shown as a process in a swim-lane diagram of a library book borrowing system? 

A. Book. 

B. Librarian. 

C. Borrowing Limit. 

D. Borrow book. 

Correct Answer: D 

 

QUESTION 5

A process model has been produced which includes diamond-shaped symbols. What does this diamond-shaped symbol
represent in the model? 

A. A document. 

B. An event. 

C. A manual process. 

D. A decision. 

Correct Answer: D 
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